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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, Cand .°
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6 '
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each. O

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

TUZ-37 / SECTION-A
WA e 1 94 ¥ v 91 1 3% 2
Question numbers 1 to 4 carry one mark each
Py PQR %1 YW PQ 1 PR W 5w féig M aer N fiwrm §1 aft PN=4.8 cm, NR=16 em, 1
PM=4.5 con T MQ=1.5 cm &, 1 31 FIY 5 MNJ|QR & a1 ¢ |

and N are points on the sides PQ and PR respectively of a APQR. If PN=4.8 cm, NR=1.6
cm, PM=4.5 cm and MQ =1.5 cm, then find whether MNJ|QR or not.

sinf.cos(90° — ) + cos.sin(90° — B) ST AF T W | 1
)4.’{ the value of sinf.cos(90° — 8) + cos8.sin(90° — 6).

1=cosh o v w7 iRy, P 6 =o00° 3

1+cosb

Find the value of 16 , when §=90°,
/ 1+cosb

HETF = 41,25 3R W7 =33.75 fear gen §1

~¥ind the mode of the data, using an empirical formula, when it is given that median =41.25

and mean = 33.75,
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WUE-§ / SECTION-B
o9 G 58 10§ YoE & 2 IF T

Question numbers 5 to 10 carry two marks each.
5 frefafiga rEve 98 #i 9l HIfY St 95T T x T[S 2

S ity (V3 + V5) T et wem &

rd
| Show that (V3 + Jg)z is an irrational number.

3\ ke e ¥ R e e g g 1 O S e O T R 2 2
T xtky=6

dx+6y=0 ) _

" For what value of k does the pair of equations given below has a unique solution ?

2 +ky=6

4x+6y=0
8 & T sl #, OA=3 cm, OB=4 cm, ZAOB=90°, AC=12 cm T4l 2

BC=13cm 21 fag #ifau fiF LCAB=90° %1
c

12em
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In the given figure, OA=3 cm, OB=4 cm, ZAOB=90°, AC=12 em and BC =13 em. Prove
that #CAB=90°. -
f 5

/

12cm

ja
? #Etan(A—B}:-J% AR tan (A+B)= /3 &, 1 A 3R B 3@ Ffmm) 2
Aftan {A—B)*—-—%andtan (A+B)= /3, find A and B. s
10 9 & it IRERa S e 2
= SHaue 100-150 ;gg' ggg' ggg' 300-350 Z%‘
SRS 8 15 29 11 17 10

T T, TF 'S 7 TN ' 1 QoA SRaRA 929 SRon 99 |
Given below is a grouped frequency distribution :

Class 150- 200- 350-
srileval 100-150 200 250 250-300 | 300-350 400
Frequency 8 15 29 11 17 10 02
Make a cumulative frequency distribution table of ‘less than type’ for it, \
- TGUT-H / SECTION-C

T HEAT 11 | 20  YAF 6 3 3 £

o~ Question numbers 11 to 20 carry three marks each.

11 78 Rewfiedi arct &fr <o 3 i o Ve § 36 el A A d2 ¥ 09 A e d o 3
T T HAN T A & F A e ¥ 31 Tl i siferan Sen g wif, s 3 o
FgHq ¥

An army contingent of 678 soldiers is to march behind an army band of
36 members in a Republic Day parade. The two groups are to march in the same number of
columns. What is the maximum number of columns they can march ?

12 o= AT W AR 2 -2y, W & - 51+ 6x F PTEUE § o e Fwew worifed g 3
: oA it | ;
By division method check whether the polynomial xz— 2x is a factor of the polynomial x3-512+ 6x.
Verify by division algorithm.
B wmwr - 2 F AT 1+ V3 A1 - 3 ¥ oo a v T i 3
_,Iﬁfvo zeroes of a polynomial X =3 +2are 1+ V3and 1 - /3, then find the third zero.

14 x T4y & foe wa sfe 3
2x=5y+4 :
3x—2y+16=0
Solve for x and y :
2x=5y+4
3x—2y+16=0
15 fag i e weers § g yenel & e wieh 0% Yar seer et B gaee s 3
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.4
Prove that any line parallel to the parallel sides of a trapezium divides the non-parallel sides
proportionally.

j6  aRAABC ~ APQR ¥ 3iR AD o1 PS HTa Frl A &R P ¥ wefpae € o fag w3
ar (AABC) _ AD® 5,
ar (APQR) Ps?
It AABC ~ APQR and AD and PS are bisectors of corresponding angles A and P, then prove

ar (AABC) _ AD?

ar (APOR)  PS%

that

17 nﬁsme=%@,ﬁfnﬁmaﬁﬁq: 3
2sin®—3cos @
4s5in® —9cosB
If sinB = % then find the value of :
2sinf) — 3 cos 6
in —9cos0
18 e e 3
tan2 A+ cot2 A+ 2 =sec2 A, cosec? A
Prove that :
tan2 A+ cot2 A+ 2 =secZ A. cosec? A
19 ﬁwﬁﬁm@ﬁ,ﬁaﬂm%m@%aﬁmmﬁ: 3
S (T H) 2000~ | 5000- | 6000- | 7000- | 8000- | 9000-
5000 | 6000 | 7000 {8000 9000 | 10000
FAamE@ R @E |20 |60 |100 |50 [80 |90
STl % Ted oad WIa St )
In a small scale industry, salaries of employees are given in the following distribution table :
Salary (in %) 2000~ | 5000~ | 6000- | 7000- | 8000- | 9000-
5000 | 6000 | 7000 | 8000 9000 | 10000
Number of
employees 20 60 | 100 50 | 80 90
Find the mean salary of the employees.
0 Prefufed SRERa S F1 g 90 ST ; 3
3 2-4 4-6 6-8 8-10
*, 3 4 2 1 -
. "

Calculate the mode of the following frequency distribution :

Marks 2-4 4-6 6-8 8-10
No. of 3 4 > 1

students
@Ug-5§ [ SECTION-D
v e 219 31 8 T & 4 5 €
Question numbers 21 to 31 carry four marks each.
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21

22

23

24

25

26

27

fag i fo6 foreft oft s i e qokt oo wporrene 6 @ Fraa 2
Prove that the product of any three consecutive positive integers is divisible by 6.
TR x4 +523+ 442102~ 12 F D YTAH - 2941 -3 ¥ | 5% Qi F §1d HifSw |

If a polynomial x*+5x3+4x2~10x~12 has two zeroes as 2 and —3, then find the other
zeroes.

FHITTM x + 3y = 15T 2x ~ 3y = —6 % AW SiFw :
ﬁ@ﬁﬂy-ﬁﬂﬁﬁ%%ﬁ%%%%ﬂmmm &5 W S
Fifs |

Draw the graph of the equations :

X+3y=15and2x — 3y = —6

Determine the coordinates of the vertices of the triangle formed by these lines and y — axis. Also
shade the triangular region.

wwﬁﬁaﬁﬁﬁﬁﬁmm@amaﬁ%aﬁamuﬁmaﬁ@ﬁmq&aﬁhﬁl
wﬁmsaﬂ%m?lsﬁcnwmaﬁ%m
19,000 2 7 | SEeht WRfver 3 v A gfig 99 SR
T e A ST 7T A U A =S S g €2

A man started his job with a certain monthly salary, and earned a fixed increment every year.
His salary was T 15,000 after 5 years service and
19,000 after 10 years service. What was his starting salary and his annual increment ?

Which character you can imbibe from his life ?

“afz el B R o o ot e @ el il & d & o ), ol vgelt Yo 1 geE

&IV g B €1 g Fifer

“In a triangle, if square of one side is equal to the sum of the squares of the other two sides,
then the angle opposite the first side is a right angle”. Prove .
Ha o # gl =gys ABCD &1 51 CD #1 Reg-fiig M ¥ BM, AC I L W &1 =g ¢
AD &1 E W fiveran § | ferg 1 fF EL=2BL &)

A B

E
In the adjoining figure, M is the mid-point of the side CD of a parallelo gram ABCD. BM when

joined meets AC at L and AD produced at E. Prove that EL=2BL.

A B Ly
b M C - ~ SO

v

E
A=90° 31X B = 45° T Gefie Q

(i) sin ({A—B) = sinA cosB — cosA sinB
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{ii) cos (A—B) = cosAcosB + sinA sinB
Take A =90° and B =45° to verify that :

i) sin (A—B) = sinA cosB — cosA sinB
(it} cos (A—B) = cosAcosB + sinA sinB

qfE sec A — tan A = x & o geise T 12 3 = — cosecA t|
x —
2
. ¥ +1
[fsec A — tan A = x, show that 71 = — cosecA.
x P
29 fag wifee & 4
3 3
sgc . + cosgc 8 = secB cosech (sec + cosech)
sec“8—1 cosec”8—1
Prove that :
secsﬁ cosec39

5 3 = sech cosech (sech + cosech)
sec®—1 cosec“®—1

30 uE e & 10094 ¥ g Te A IwER AR AW R 4
YeEn 50 F-|55 aAT|60 A|65 A|70 ;|75 A|80 A
(ky o |s@ |wed |swd |3 (s s |
") safus | ot | aifuss | sifues | oifys | st | Sifes
wal o = | 100 98 90 78 60 35 13

maﬁ‘@i@,ﬁ‘ﬂm#m'wmﬁmlﬁﬁmwﬁmﬁmmmﬂ
i TR S St o it |

Production of wheat in 100 farms of a villages is given below :

psday, | o | MR More |More |More | More | More
than |than |than |[than |than |than | than
En e or or or or or or or
g/hectare) equal |equal |equal |equal equal |equal |equal
to 50 |55 60 65 70 75 80
Number of 100 98 - = & a5 -
farms

Draw a ‘more than type’ ogive for the above data. Find the median from the curve and verify
it by actual calculation.
31 sroTe § ifee g 120 A w s o frawe, e sew # fen T E afs ST FT U 267, 4

A @ SEERant x 91y 6 B
AT @ ag (aui®) |08 | 816 |16-24 |24-32 |32-40 |40-48
RN &t HeAl 20 x 8 y 30 20

Ages of 120 patients admitted in a hospital are given in the following distribution. If mean of
the distribution is 26, find the missing frequencies x and y.

Age of patients (in| ¢ |gi6 |1624 2432 |3240 |40-48
years)
Number of patients 20 x 8 y 30 20

-00e0o00-
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